LO: Divide a three-digit number by a single digit.

1) 444 -4 11) 524 =+ 2
2) 862 =2 12) 402 + 3
3) 966 =3 13) 579 + 3
4) 555 +5H 14) 824 - 4
5) 248 =2 15) 786 = 6
6) 484 -4 16) 904 = 2
7) 693 +3 17) 345 + 3
8) 848 -4 18) 384 - 8
9) 336+3 19) 723 + 3
10) 505+ 5 20)125 +5
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LO: Divide a three-digit number by a single digit.

1) 444 -4 111 11) 524 =2
2) 862 =2 421 12) 402 + 3
3) 966 =3 322 13) 579 + 3
4) 555 +5 111 14) 824 - 4
5) 248 =2 124 15) 786 = 6
6) 484 +4 121 16) 904 = 2
7) 693=+3 231 17) 345 + 3
8) 848 -4 212 18) 384 -8
9) 336+3 112 19) 723 + 3
10) 505+ 5 101 20)125 +5

Answers
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